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    Bachelor of Arts Programme (B.A.) 

 

efJe<eÙe         :             efJe<eÙe keâes[:  -01 

Subject :  UGEC              Subject Code  :   UGEC 

keâesme& Meer<e&keâ    :                                                keâesme& keâes[     :  -01 

Course Title  :  Fundamental of Economic                Course Code :   UGEC-01 

 

      DeefOekeâlece Debkeâ     :  30 

      Maximum Marks:  30 

 
veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 

Answer all questions. All questions are compulsory.  
 

   Section – A 
   KeC[ - De   DeefOekeâlece Debkeâ     :  18 

      Maximum Marks:  18 

 

               1  . 6

Explain short-run and long-run equilibrium of Firm and industry under Perfect Competition. 

 2. 6

Make an Analytical study of Revealed Preference Theory. 

 3. 6

Describe critically the Ricardian Comparative cost theory. 

Section - B 

12 

Maximum Marks : 12

200 300 

 Note :  Short Answer Question. Answer should be given in 200 to 300 words. Answer all questions. 

All questions are compulsory.

 4. (Static and Dynamic Economics) 2 

 5. (Equilibrium in Economics) 2 

 6. (National Income) 2 

 7. (Balance of Trade) 2 

 8. (Characteristics of underdevelopment) 2 

 9. (Imperfect Competition) 2 

 
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Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
Answer all questions. All questions are compulsory.  

 

   Section – A 
   KeC[ - De   DeefOekeâlece Debkeâ     :  18 

      Maximum Marks:  18 

 

1. Discuss the role of natural resources in economic development of India. How can 

these resources be conserved and developed? 

Hkkjr ds vkfFkZd fodkl esa izkd`frd lalk/kuksa dh Hkwfedk dh foospuk dhft;sA buk lalk/kuksa 

dk laj{k.k rFkk fodkl dSls fd;k tk ldrk gS\ 

 

2. What is meant by industrial sickness? Explain the causes and consequences at 

industrial sickness in India. 

vkS|ksfxd :X.krk ls D;k rkRi;Z gS\ Hkkjr esa vkS|ksfxd :X.krk ds dkj.kksa ,oa ifj.kkeksa dk 

o.kZu dhft;sA  

3. Analyse the reasons for low national and per capita income in India. Give suggestions 

for for its improvement. 

    Hkkjr esa jk’Vªh; vkSj izfrO;fDr vk; de gksus ds dkj.kksa dk fo”ys’k.k dhft;sA   blesa   

    lq/kkj gsrq lq>ko nhft;sA  

                        
[k.M&^c* 

 Section – B 

                                                                                          M.M: 12 
                                                      vad & 12 

Note: Short Answer Questions. Answer should be given in 200 to 300 words. All 

questions are compulsory. 

uksV% y?kq mRrjh; iz”uA iz”uksa ds vius mRrj 200 ls 300 “kCnksa esa fy[ksaA lHkh iz”u vfuok;Z gSaA  

 

 4. Discuss the main causes of backwardness of Indian agriculture.                         
   Hkkjrh; d`f’k ds fiNM+siu ds eq[; dkj.kksa dh O;oLFkk dhft;sA 

 



   5. Examine the role of industrialization in economic development at India.                                                    
        Hkkjr ds vkfFkZd fodkl esa vkS|ksxhdj.k dh Hkwfedk dk ewY;kadu dhft;sA 

  

   6 Write the composition at India’s exports and imports.                         2                                                                         
  Hkkjr ds fu;kZr&vk;kr dh lajpuk fy[ksaA 

  

   7.  Throw light on the present position of public enterprises in India.                           2           
  Hkkjr esa lkoZtfud midze dh orZeku fLFkfr ij izdk”k Mkfy;sA 

 

   8. Write the main problems of small-scale industries in India?                                       2 
 Hkkjr esa y?kq m|ksxksa dh eq[; leL;k;sa fy[ksaA 

 

    9.  Discuss the main sources of industrial finance in India. 

Hkkjr esa vkS|ksfxd foRr ds eq[; lk/kuksa dh O;k[;k dhft;sA                       2 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



      Gòej ØeosMe jepeef<e& šC[ve cegòeâ efJeMJeefJeÅeeueÙe, Fueeneyeeo 

               DeefOevÙeeme (Assignment)                2015-2016  

    Bachelor of Arts Programme (B.A.) 

efJe<eÙe         :                     efJe<eÙe keâes[:   

Subject :  UGEC                        Subject Code :   UGEC 

keâesme& Meer<e&keâ    :   izkjfEHkd lka[;dh; fof/;ksa                  keâesme& keâes[  :  03 
                 ,oa losZ{k.k rduhfd 

Course Title     Elementary Statistical Methods                  Course Code:   UGEC-03 

                            and Survey Techniques 

      DeefOekeâlece Debkeâ     :  30 

      Maximum Marks:  30 

 
veesš  :  oerIe& GòejerÙe ØeMve ~ ØeMveeW kesâ Deheves Gòej 800 mes 1000 MeyoeW ceW efueKeW~ meYeer ØeMve DeefveJeeÙe& nQ ~ 

Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
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1 Eight coins are tossed at a time 256 times. Number of head observed 

at each throw is recorded and the results are given below. Find the 

expected frequencies. What are the theoretical values of mean and 

standard deviation? 

,d gh le; ij 8 flDdksa dks 256 ckj mNkyk x;kA gj ,d ckj vk;s gsM~l 

dks ntZ fd;k x;k tks fd fuEu izdkj gSA izR;kf”kr vko`fRr;ka Kkr dhft;sA 

vkSlr ,oa ekud fopyu dh lS)kfUrd la[;k fdruh gSA  

 

No. of heads at a throw 

izfr mNky gsM~l dh la[;k 

Frequency 

vkòfRr 

No. of heads at a throw 

izfr mNky gsM~l dh la[;k 

Frequency 

vkòfRr 

0 2 2 30 

1 6 3 52 

4 67 7 10 

5 56 8 1 

6 32   

 

2. Construct index numbers of price from the following data by applying 

(i) Laspeyres Method 

(ii) Paasche Method 

(iii) Bowley’s Method 

(iv) Fisher’s Ideal Method 



 

fuEufyf[kr vkdM+ksa ds vk/kkj ij ewY; lwpdkad dh x.kuk vxzfyf[kr fof/k;ksa 

ds vk/kkj ij dhft;sA  

1 ykLis;j fof/k 

2 ik”ks fof/k 

3 ckmy fof/k 

4 fQ”kj vkn”kZ fof/k 

    2014     2015 

Commodity  Price  Quantity  Price  Quantity 

oLrq   ewY;  ek=k   ewY;  ek=k 

¼v½ A   2  8   4  6 

¼c½ B   5  10   6  5 

¼l½ C   4  14   5  10 

¼n½ D   2  19   2  13 

 

 

3. Write short notes on: 

(a) Statistical errors 

(b) Rank Correlation 

 

       Yk?kq fVIi.kh fyf[k;s% 

   ¼v½ lka[;dh; =qfV;ka 

   ¼c½ jSad lglEcU/k 

                        

[k.M&^c* 
 Section – B 

                                                                                          M.M: 12 
                                                      vad & 12 

Note: Short Answer Questions. Answer should be given in 200 to 300 words. All 

questions are compulsory. 

uksV% y?kq mRrjh; iz”uA iz”uksa ds vius mRrj 200 ls 300 “kCnksa esa fy[ksaA lHkh iz”u vfuok;Z 

gSaA  

 

 4. What do you mean by random sampling?                         
   ;kn`fPNd izfrp;u ls vki D;k le>rs gSa \ 

 

   5. If log 2=0.3010 and log 3= 0.4771, the value of log5 512 is?                                                   

        ;fn log 2=0.3010 ,oa log 3= 0.4771, rks  log5 512 dk ewY; Kkr dhft;sA 



  

   6 Calculate standard deviation of X series! 

                     X = 2, 4, 8, 6, 5 2                                                                         

 X ds Ekkud fopyu dh x.kuk dhft;sA 

                X = 2, 4, 8, 6, 5  

   7.  Differentiate between bar chart and histogram.         2           
  ckj pkVZ ,oa fgLVksxzke ¼vk;rfp=½ esa vUrj dhft;sA 

 

   8. Why sampling is justified?                   2 
 izfrn”kZ p;u D;ksa tk;t gS\ 

 

    9.  Differentiate between primary and secondary data collection. 

izkFkfed ,oa f}rh;d vkadM+ksa ds laxzg esa vUrj dhft;sA 2 
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Note:  Long Answer Questions. Answer should be given in 800 to 1000 words. 
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   Section – A 
   KeC[ - De   DeefOekeâlece Debkeâ     :  18 

      Maximum Marks:  18 

1. Discuss the Nature & importance of Indian Agriculture.  
    Hkkjrh; d`f’k ds egRo ,oa izd`fr dks le>kb;sA 

2. Why is the Agriculture the backbone of the Indian Economy.  
    ^d`f’k Hkkjrh; vFkZO;oLFkk dh jh<+ dh gM~Mh gSA D;ksa\ 

3. Discuss the mid day meal programe.  

       feM Ms ehy dk;Zdze dk foLr̀r fooj.k nhft,A 

                        
[k.M&^c* 

 Section – B 

                                                                                          M.M: 12 
                                                      vad & 12 

Note: Short Answer Questions. Answer should be given in 200 to 300 words. All 

questions are compulsory. 

uksV% y?kq mRrjh; iz”uA iz”uksa ds vius mRrj 200 ls 300 “kCnksa esa fy[ksaA lHkh iz”u vfuok;Z gSaA  

 

    4. Explain the defect of Agricultural products marketing inIndid.                         
      Hkkjr esa d`f’k mit dh fcdzh ds nks’kksa dks crkb;sA 

 

    5. Discuss the importance of rural credit and its source in India.                                                    
        Hkkjr esa xzkeh.k lk[k ds egRo vkSj lzksrksa dk o.kZu dhft;sA  

   6  NABARD.                                                                                             2 
  jk’Vªh; d̀f’k ,oa fodkl cSadA 

  

   7.  Write a short note on disguised unemployment.                       2 
  vn`”; csjkstxkjh ij ,d laf{kIr fVIi.kh fyf[k;sA 



 

   8. What do you mean by consolidation of land holdings? Why this reform 

was introduced in India?                   2 
  Hkwfe dh pdcUnh ls D;k vfHkizk; gS\ Hkkjr eas bl lq/kkj dks D;ksa ykxw fd;k  x;k\ 

    9. “India needs a second green revolution”.  Express your views   with 

reference to this statement?                                                                                       
^^Hkkjr esa nwljh gfjr dzkafr dh vko”;drk gSA** bl dFku ds lUnHkZ esa vius fopkj 

O;Dr dhft;sA 2 
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   Section – A 
   KeC[ - De   DeefOekeâlece Debkeâ     :  18 

      Maximum Marks:  18 
 

1. What do you mean by the Concept of Differentiation? How does it 

help in calculating the maximum and minimum limit of a function? 

Explain with suitable examples. 

   vodyu dh vo/kkj.kk ls vki D;k le>rs gS\ bldh lgk;rk ls Qyuksa ds      

   vf/kdre rFkk U;wure ekuksa dks fdl izdkj fudkyrs gSa\ mfpr mnkgj.k   

   nsdj le>kb;sA 

 

2. What is difference between vector and matrix? Explain different 

types of matrix with the help of suitable examples. 

   lfn”k vkSj vkO;wg esa D;k vUrj gS\ vkO;w gds fofHkUu izdkjksa dks mfpr     

   mnkgj.k dh lgk;rk ls le>kb;sA 

     

3. Explain the Input-Output analysis. 

   vkxr&fuxZr fo”ys’k.k dh O;k[;k dhft;sA 

[k.M&^c* 
 Section – B 

                                                                                            M.M: 12 
                                                                                           vad & 12 

Note: Short Answer Questions. Answer should be given in 200 to 300 words. All 

questions are compulsory. 

uksV% y?kq mRrjh; iz”uA iz”uksa ds vius mRrj 200 ls 300 “kCnksa esa fy[ksaA lHkh iz”u vfuok;Z gSaA  



 

 4. What do you mean by function? Explain a linear function with the help of 

graph.                      
   Qyu ls vki D;k le>rs gSa \ ,d jSf[kd Qyu dks js[kkfp= }kjk le>kb;sA 

 

   5. Find out differentiation of the following: 

        (i)   - X2 + 2X             (ii)  3X3 – X + 8                                                

  

   6 Explain the importance of the partial differentiation. 

       vkaf”kd vodyu dk egRo le>kb;sA 

  

7.  Demand Function for Sugar consumption is D=5 – P/2. Where P= Price 

and D=Demand. If 3 unit is purchased, what will be consumed surplus.            

OR  2 

 Explain Integratin in brief. 

 Lkekdyu dks laf{kIr esa le>kb;sA 

 

   8. If elasticity of Demand is ¼ and Demand is X=2 on P=1. Find out the 

demand function.                 2 

 ekax dh yksp 1@4 gSA vkSj dher P=1ij ekax X=2 gSA ekax Qyu 

fudkfy;sA 

 

    9.  What is set? 

     leqPp; D;k gS\ 
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      Maximum Marks:  18 
 

1.  Write a detailed note on Britain’s Foreign investments. 

fczVsu dk fons”kksa esa fuos”k ij ,d ys[k fy[ksaA 

 

2. Write an essay on Industrialisation of Japan? 

Tkiku ds vkS|ksfxdhdj.k ij ,d ys[k fy[ksaA 

     

3. Write a note on role of five year plans in the economic development of 

Russia. 

:l ds vkfFkZd fodkl esa iapo’khZ; ;kstukvksa dh Hkwfedk ij ,d uksV fy[ksaA 

                        
[k.M&^c* 

 Section – B 

                                                                                          M.M: 12 
                                                                                            vad & 12 

Note: Short Answer Questions. Answer should be given in 200 to 300 words. All 
questions are compulsory. 

uksV% y?kq mRrjh; iz”uA iz”uksa ds vius mRrj 200 ls 300 “kCnksa esa fy[ksaA lHkh iz”u vfuok;Z 

gSaA  

 
      4. Economic growth.                      
       vkfFkZd lao`f)A 

 

      5. Impact of west on Japan 

           Tkiku ij if”pe dk izHkkoA                                      
  



   6 October Revolution. 
       vDVwcj dzkfUrA 

  
    7.  Colonial System.              2 

   mifuos”kh; O;oLFkkA 

 

    8. Development of Heavy industries.                 2 
 Hkkjh m|ksxksa dk fodklA 

 

    9.  Under development. 

vYi fodklA 2 
 

 

 

 

 
 


